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102513000010689 | A K8 060 MRISHET EFRR 080500 TRBEETRE 2 HH 66.76 303 76.00
103363371309449 | Brark 060 MR ERETEF 080500 MTRRFEETE EN=E 66.76 301 76.60
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103363360108401 | FEJET 060 MR ERET =¥ 080500 MERNZE TR 2 HH 65.36 278 80.00
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102953213110707 %] 060 MRS T 2o 080500 MRRY2ETRE ENEE 60.52 303 60.40
101453000014265 | K& 1E 060 MR ESRETERR 085601 MR s S HH 75.88 328 91.30
102943211313103 | #HE® 060 MR EIRE T R¥ T 085601 MRT 1% EN=E 75.48 363 79.80
102903211209148 | #%E 060 TR ERE I R 085601 MRT R =kl 75.40 355 82.00
103353000930941 | &XFfin 060 MR EIRET 2k 085601 MRITE EN=kil 75.24 367 78.00
106113509080477 | =/0f 060 MR ERET RS R 085601 MR IR 2 H# 75.00 343 84.60
104973200334320 | FX=F 060 MRENET B2k 085601 METIRE EN=E 74.04 337 84.00
104973400341610 X 060 MR ERETRFMR 085601 MR L= =k 73.88 320 88.70
106133085600066 %3E 060 MREE T RFR 085601 MR T = =A% 73.36 329 84.70
101453000012203 | #=& 060 MEESRET =¥ 085601 MR i EN=k 71.80 307 87.40
103583210012289 | T &/= 060 MRS HRETEZR 085601 MRTE EN=E] 71.52 310 85.80
111173210016447 | =X 060 MR ERETEF 085601 MRTE £ HH 70.84 314 82.90
102553230005761 =i 060 ME5RE T =5k 085601 METIRE ES=ki 70.60 303 85.60
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105323530111265 | a&%15 060 MRISHRET EFRR 085601 MR I 2H# 70.36 317 80.80
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102843217527559 | mE=RK 060 MRS T e 085700 ABESINE EN=E 70.16 308 83.00
106983611107373 | &FXE 060 MR ERET RS R 085700 ABESINE EN=kil 69.88 289 88.00
101413330709025 | #BH 060 MRENET B2 085700 RBESHE E=Ea] 68.72 276 89.00
106133085700396 | B 060 MR ERETRFMR 085700 AESIE EN=kd 66.72 286 81.00
103003210808662 | =& & 060 MR ERET ZEFMh 085700 REBESHE EN=ki 64.80 290 75.00
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103453210013257 Hx 070 B 070200 YIRS EN=Ed] 80.74 362 93.25
103453210013275 | K& 070 THZRE 070200 IEZF 2H# 78.02 363 86.15
103453210013258 | &5 070 THZRE 070200 MIEZ EN=E] 78.00 368 84.60
102853210016587 | k¥ 070 LA 070200 e EN=Ed 76.04 359 82.40
104253540011728 | fi#de 070 THZRE 070200 YIEZ 2HE 76.00 362 81.40
102853210016504 | B Fkk 070 THZ 070200 YIEZF EN=E 75.96 351 84.60
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103193321809626 | Z=HERE 070 TR 070200 I EN=kd 70.20 311 82.20
102473431616000 | BRI 070 TEZr 070200 IEF EN=ED 69.80 285 89.00
105743000014668 SR 070 TP 070200 I EN=Ed] 69.72 297 85.20
102883500016726 | EHHRR%! 070 pEEdC 070200 YR EN=kil 69.64 297 85.00
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102513000008693 | ZRE 090 = 120200 j:;%gzﬂg 80.93 378 88.92
105333212008671 | =2 090 = 56500 :[E%ﬁiﬂg 78,52 367 86.20
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103353000907699 | % 091 Z 55T 125100 TEED - 70.07 172 89.18
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103583210000463 ij? 150 M =22 Fhr 085412 MESEER EN=E 77.16 368 82.50
103353000920693 | izt 150 W 2% =2 8] 2 2 2B 085412 WESEELE =kl 76.90 363 83.35
102883500010005 | FFFEF 150 M2 =[R2 Fhr 085412 WESEERE ENEE 76.11 359 82.58
103593210009640 %2;% 150 EEEIREEE 085412 NESEERE =k 75.05 348 83.23
104873000131071 E 9§§j] 150 WA= EZEF 085412 WESEERE EN=E 74.70 341 84.44
104873000135053 | & BE 150 M2 == A2 F 085412 WEEEELSE < A% 73.65 347 80.02
104873000137719 ;g}*cjg 150 W= B R EF 085412 WEESEELE EN=ki 72.47 342 78.56
104873000131448 | &R 150 M2 =S ) R 085412 MES5EERE ES=Ed] 71.95 340 77.87
104873000136079 jz 150 FEEOEEEa 085412 NEESEERE EN=E] 71.76 344 76.19
104873000132714 | ZBFH 150 W 2% 22 (8] 22 % A e 085412 MESEERE E=E] 71.49 351 73.42
103583210001270 =R 161 e XY NTERIE S B EFHR A O 085404 HEY A EN=Ei 75.34 361 80.04
105613330214876 | R@Eh 161 ¥ KT ERIF S SR EF R0 085404 TENMREAR 2HE 73.37 331 84.12
100133000880566 ﬁ:_ﬂlz 161 B X NI ERF S SRR il 085404 TTEYLEAR £ HH 73.04 344 79.40
105613431519251 Sp 161 ﬁ%%"?ﬂfﬁfs FEREEFHRT 085404 TEMEAR 2 HH 72.78 336 81.16
103353000931024 G 161 ;—LEE%"UH--%"S FEEREFTRBD 085404 TEVEAR EN=E 72.04 337 79.00
100553333313240 | FRiEZR 161 m%“rm—— BEESEEREMEHR O 085404 TENMREA £ HF 7147 324 81.48
103363330104293 | F&H R 161 RV BRI SRR EFR RO 085404 TENEAR EN=E] 71.28 314 84.00
103363330806902 ?fL:—;v\HB 161 f;%ié "rﬂi—-ﬁgs FEEREFHRFD 085404 HENEAR =L 70.16 322 78.80
103363330104503 3215; 161 M X wm——g:gs FERREFHART D 085404 TENEA EN=E] 69.88 313 80.80
103353000901960 Eiﬁﬁg 161 Jﬁ%%\ T E RS 5 & RE BT 5T L 085404 TEIEAR £ HHF 69.88 329 76.00
103373210009072 | FRB=F 161 un@%%-m——ggs =2 5 %0 6E AT 51 FR 085404 TEVEA =A% 69.30 318 77.84
103363412110085 | FXEA 161 MEEFNH IR P SRR 085404 TENMEAR EN=E] 69.28 326 75.40
103353000901767 | =ik 161 FLEE EFAITERF 5 B RE 5= H o 0 085404 TTEVLEA 2HH 69.16 315 78.40
102883500010213 | 3K 4 162 LEL S SEAI 9 BE R GE AN A A BT S R0 085406 2 112 EN=E 7875 354 90.68
102473330111199 | BHFR 162 ﬁ%%ﬁ‘ﬁ?}l%ﬂ BER G A B AR 085406 =H T2 EN=E 77.67 351 88.88
910023371301747 | BAXE 162 LES 2 JEAN R BE R GE AN A A BT 5 R0 085406 =H T2 E=E 74.98 350 8244
102883500010203 fﬁ[ﬁfg% 162 1EE AL BE R G AL B A5 L 085406 EHITHE 2 HH 74.00 330 86.00
102883100002668 >§371<1le 162 E XA R GE R AL A A BT R0 085406 RE T EN=k 73.82 318 89.16
102473330111202 | ARIA N 162 e S JEHE BE R AL s A ST L 085406 =H TR 2 HH 73.28 336 82.40
102473360113445 B 162 TUES X SEAL RS R R AL B A Bt 53 R 085406 EHITE =kl 72.10 351 74.96
103363330102570 [}ﬂ_ﬁ%fj.ﬁ 162 TE XKV RE R AL =S AR B 085406 BE T e 2 HH 71.99 325 82.48
102863342515499 z@ﬁx 162 ;fﬁ%"7‘}1%%‘%%2,{31-11711%%)\1‘:}-%:@ 085406 EHI T EN=E 7174 342 76.76
103363330506383 ﬁkg?&% 162 ME XY ER ARG S=AT R 085406 RE T 2 HF 71.49 340 76.72
102473330111190 Mg 162 MEZEARGER G2 AR 085406 ST i =HF 70.72 340 74.80
103353000902538 74%\ 162 FLE EJEH B BE R AN s AT 5% L 085406 2T EN=E 70.36 303 85.00
103363370609252 | FHZEHA 162 ALER 3 JEAN B BE R Ge AL ms A BT 5T L 085406 I =k 7021 306 8372
103363330102522 | FERRSA 162 L XS BER Gl Bk ABT5T 0 085406 2 2 HE 69.50 308 81.36
103363330104522 | % 162 ALER 3 JEAN B BE R GE AN a A BT 5 R0 085406 2 112 E= 68.71 299 82.08
103363330102633 | =5 = 162 B X U B BE R GE AN A AT R0 085406 S T EN=ki 68.70 305 80.24
103363330102418 %—%_?E 162 @@%%'ﬂ% BE R GEAA L B AT AR 085406 wH TR E=E] 68.63 281 87.28
103363330205525 | o= 162 LER = AL E BE R AL 2R AR 085406 ZET EN=E 68.07 313 76.28
103363330102407 | R&F 162 L AV B R RGNV AR T 085406 RE T EN=k 67.81 306 7772
101413330108943 | EZHFH 162 LES AL E BE R AL 2R AR 085406 =HITHE 2H# 67.66 329 70.44
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